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Topic:- General Knowledge and Logical Knowledge

1) Some friends are seated in a row: Which friend is seated in the middle? / PH IGERED
ufdd & 46 & &= o1 7 4= #F der g7

I I [ | )

Fanesh  Shyam  Mohan  Hunal Vizam  Puneet Sihhag

1. Puneet / Q‘ﬂﬁ
2. Vikram / [dspH

3. Kunal / $UlMc]
4, Mohan / 14-13:[

Correct Answer :-

« Kunal / PUICT

The jumbled [etters ofwords are given below. Each [etier has been numbered. Choose the optionwhich

gives the correct order of the letters as indicated by the numbers to form the words., / Ui 206G &
TdalT B del & RS GT a0 §1 Ucdsh &N &l HHAlldhd (b - §1 39 [dbed & g0
S ereg, & AT & T 3T st garr FaRT & 98 HH & gl &

N R O C T A

1 2 3 4 2 G

1.1,6,2,4,3,5
2.6,5,2,3,1,4

3.4,6,2,5,3,1
(2)



4.2,3,5,4,6,1

Correct Answer :-

« 4,6,2,5,3,1

3) Gangtok is the capital of / et e ot ISy % :
1. Sikkim / RifeepH

2. Nagaland / BN

3. Meghalaya / e

4. Arunachal Pradesh / /U U

Correct Answer :-

« Sikkim / Rifewa

4) Among the currently operational Indian satellites, there is no / I H ufEterd ‘l-ﬂ?_cﬁ'qa'qu'iﬁ "
His ot |

1. Jupiter orbiter satellite / JELTN HET IUIE To! &
2. Navigation satellite / B EIRGH mqﬁ%

3. Earth observation satellite / q%apr TeUI SR ol §
4. Communication satellite / TdR SUUE 61 &

Correct Answer :-

« Jupiter orbiter satellite / W$&ﬂ STE Tl &

5) Which of the following recently received permission from SEBI to exit business? /ﬁ'ﬁ'ﬁf@ﬂ k)

5 g1a &1 ¥ At @ suawmy A 91eR Fwen @1 srgufa ur g5 32

1. Bombay Stock Exchange / It i TRTa

2. Calcutta Stock Exchange / il Tih er{-la.\ﬂ
3. Delhi Stock Exchange / IFSUESED Q?ﬂiaﬁ
4. National Stock Exchange / A Kb Qﬂﬂa\_ﬂ

Correct Answer :-

» Delhi Stock Exchange / Em‘\l T L{OR-IT?I.W

©)



6) Which of these discriminatory taxes did Emperor Akbar abolish in 1564 ? / E:I'ﬁ' IAPHEY
NSUTTYUT B DI JHTE PR A 1564 H THTE fbar U2

1. Zakat / SIbTd

2. Kharaj / @RIl

3. Jiziyah / S{STATE

4. None of these / ST ¥ ﬁ’é Tol

Correct Answer :-

o Jiziyah / Gﬂﬁl’ﬂ'l%’

7) Which one of the following services of India Post has permanently been discontinued? / YRAIG TP

¥t ot Tarel ' @ 19 W te a1 ) RE Su S 9 w2 oo mar 2
1. Inland Letter / Hﬁﬁ’q P
2. Postal Life Insurance / BT oIt SHT

3. Telegram / dIR
4. Speed post / WIS URe

Correct Answer :-

o Telegram / dRR

8) Which one of the following Articles/Schedules in the Constitution of India deals with Autonomous
District Councils ? / HRd & Ifaer & fFafafea & 3 #19 Q ue srgsde/Srg &1 waras forem
UiRuSl & 1Y FGER §Idl 82

1. Sixth Schedule / ©3T ST
2. Article 370 / 319G 370

3. Article 250 / 3G 250
4. Eight Schedule / 3{T&d! 3Igdt

Correct Answer :-

« Sixth Schedule / Ta! G'F'ﬁﬁ;f

9) Indian Railways has given a contract to Bansal Group to manage which railway station in Madhya

Pradesh? / RO ¥eld 3 AT WS & fohd Ya7d TR BT UG HA & o€ §9¢ YU & 1Y TH
ey frar g2

(4)



1. Habibganj / BalaTiol
2. Nepanagar / AUMTR
3. Ratlam / XdcllH

4, Satna / Fd-T

Correct Answer :-

« Habibganj / GaIaTISl

10) According the Census 2011, the most populated district in Madhya Pradesh is /ay 2011 $

SRIUAT & SR, T USRT BT a4 SATGT ST arel RIar S Aarg 2
1. Gwalior / TaTferAR

2. Jabalpur / SIdcTYX

3. Bhopal / UaTd

4. Indore /3’@?

Correct Answer :-

e Indore/ EE:R

11) As per Census 2011, the most populous state of the country is / ST-IIUTAT 2011 ¥ SR, =
BT I ATYP TS T ITT gl

1. Uttar Pradesh / 3t ey
2. Andhra Pradesh / C’rﬂ‘i«fm
3. Rajasthan /ISR

4. Madhya Pradesh / HJ l;lé_-‘?'[

Correct Answer :-

« Uttar Pradesh / 3T} U%QT

12) How many states does India have? / 'I-I'R_d'l}l feaa TIW%'?
1. 28

2.19

3.25

4. None of the above / G’Wéﬂﬂ oy aﬂ% BEl
(5)



Correct Answer :-

¢ None of the above/?qgaﬂﬁﬁﬁgﬁ

13) The category of ‘Overseas Citizens of India’ was entered in the Citizenship Act of India through an

amendment in the year ; /Hﬁ_ﬁ@ﬁﬂ?%mmﬁm fRIfFau # HRa
& Yot AN BT Yol B SirST T4 AT

1. 1996
2.2003
3. 1992

4. 1986

Correct Answer :-

« 2003

14) The only lady Governor of Madhya Pradesh is / H& L'Iﬂ'-‘ZT A UHHEA 'FI'I%ET ISIUTd B %?
1. Padmaja Naidu / UsISIT g

2. Sheila Kaul / itell Id

3. Sharda Mukherjee / RIRal %\_Iﬂ:

4. Sarla Grewal / TRQT YdTd

Correct Answer :-
o Sarla Grewal / 9l a1

15) The Cabinet Committee on Security (CCS) is chaired by? / gR&T et vvsa afafa (a?ﬁﬂ'cf
A 3T Rt - WRfiew) o1 sremer w82

1. The Finance Minister / fad T
2. The Defence Minister / T&T H3I
3. The Prime Minister / T F3t

4, The Home Minister / 1][& Ll

Correct Answer :-

« The Prime Minister / T A1



16) The Light Combat Aircraft (LCA) designed and developed by HAL is also known as / TdUU gRT

FUifed R fAwRia so asTe faw @esite) o199 #7132
1. Suryakiran / G410l

2. Aryabhatta / 3TIHE

3. Tejas / Aol

4, Prakash / UPIR

Correct Answer :-

» Tejas /o

17) Bhoodan Movement was started by / {aI &I EAE GRT Y= forar T YT
1. Vinoba Bhave / fa=TIalT HTd

2. Jayaprakash Narayan / SIIUDIR] |IRTYU]

3. Dadabhai Naoroji / STETHTS <RToN

4, Mahatma Gandhi / HeTHT Trieft

Correct Answer :-

¢ Vinoba Bhave / ICEIEIRNE]

18) Who among the following has not received a Nobel Prize? / Fafafead 9 g Tiea YRIEDIR
TG T8 g &2

1. Amartya Sen / 3\ I
2. Mother Teresa / HGX GEE3|
3. Mahatma Gandhi / HeTHT Tieft

4, CV Raman / RICIRCE

Correct Answer :-

¢ Mahatma Gandhi / HaTHT Trieft

19) Who is the author of ‘The Palace of Illusions’? / ‘¢ ﬁﬁw 3ITH QIR * ﬁw ?ﬁ? %'?
1. Chetan Bhagat / EREUG]

2. Devdutt Patnaik / et UeAdh

3. Chitra Banerjee Divakaruni ACEll EERIARGIERaT
(7)



4. Arundhati Roy / 3R Y

Correct Answer :-

» Chitra Banerjee Divakaruni / IEEICRSIRECICESS]

20) Who was the President of the Constituent Assembly ? / TR T & 3reed S A?
1. Sardar Patel / TRGR Ucd

2. Rajendra Prasad / I TG

3. Jawaharlal Nehru / STATER T A8

4. Dr. B R. Ambedkar / ST &l 3R 3FgHT

Correct Answer :-

« Rajendra Prasad / oIS TG

21) Lakshadweep is in the / F&IEIT A
1. Bay of Bengal /Wﬁ@@ﬁ
2. Pacific Ocean / U2Iid HERINR

3. Indian Ocean /%EQWT‘T{
4, Arabian Sea / 3IRd gR

Correct Answer :-
¢ Arabian Sea / 3IRd {qI'IR

22) The series given below contains a sequence of numbers. Identify the incorrect combination: / EiC] a Tl—sc m
H, HEI3i BT TS HH UK & | Tad T Tgan-ig:

12, 32, 72,142,312

1. 142

2. 312

3.32

4.72

Correct Answer :-



23) Select the option that is true about the Statements and Conclusions given:

Statements:
All guns are rifles
Some pistols are guns

Conclusions:
I. Some pistols are rifles
II. Some guns are rifles /

I fased &1 99+ BIfoTg wiifes f3 U Hu=i ik fFpul & aR & w8l &:

BY:

Tft g Tswa §

o

1L $O fRdia Iswa g

1. PO dgdh IFHA §

1. both conclusion I and II follows / FHE 1 3R 11 I SFIHRUI & §

2. only conclusion I follows / ad fSHY [ STIRUI HT &

3. only conclusion II follows / Fadl f5HY IT SRV BT §

4. neither conclusion I nor conclusion II follows / T g1 &R 1 3R 71 & 5B 11 3 ERTT Rl &

Correct Answer :-

« only conclusion I follows / ad fAHY I SR AT ]

24) Select the option that is true about the Statements and Conclusions given:

Statements:
Some rulers are scales
Some scales are straws

Conclusions:
I. Some rulers are straws
II. Some straws are rulers /

39 fawey o1 99 FIT St 3T e HyT o frepul & IR & Tl &:
BY:
O A A &

©)



e

L PO IR KIS

IL.PDS RIS

1. both conclusion I and II follows / ﬁ'@ﬂh GhT I aﬁ:ﬁ STTART] W %

2. only conclusion I follows / &Had FTHY 1 SITARTT W%

3. only conclusion II follows / Had ﬁ'@ﬂf IT 3RO pdl %

4. neither conclusion I nor conclusion 11 follows / 71 &1 feert 1 3R 71 €t fAeewef 11 SR A S

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / - ézf ﬁ'@T‘SfI GhT - 33[ ﬁ'@ﬁ T 3R B %

25) Select the option that is true about the Statements and Conclusions given:

Statements:
All hens are cocks
Some cocks are chicks

Conclusions:
I. No chick is hen
II. Some hens are chicks /

I fadey &1 9= iR \ife R e Sy ik fFrepul & TR § a8t 8:
DYA:

wft gl g ¢

FOFIIT

e

1 IS o il el &

1L o gfifai gei §

1. both conclusion I and II follows / F&GH 1 3R 11 GHY SR B %
2. either conclusion I or conclusion II follows / T

3. only conclusion I follows / Had sy 1 ST FRATE

4. only conclusion IT follows / FHad sy 11 TR HT %

Correct Answer :-

« either conclusion I or conclusion II follows / Il ?ﬁ



26) Select the option that is true about the Statements and Conclusions given:

Statements:
All boys are intelligent
Shyam is intelligent

Conclusions:
I. Shyam is a boy
II. All intelligent are boys /

39 fadey &1 99 Sifee wifes 3T T Y= ok fAsput & IR & 981 8:
U

it 7o gfama §
e gisA §

e
1. TUTH U Sl

.9 g ass §

1. both conclusion I and II follows / F&GY 1 3R 11 GHT SR B %

2. only conclusion I follows / Fad ey 1 TR0 WT%

3. only conclusion IT follows / Had fpy 11 STTHRT] W_CIT%

4. neither conclusion I nor conclusion II follows / = E)p[ fAspy 1 3R A %3[ fAspy 11 S{FURUT GG %

Correct Answer :-

« neither conclusion I nor conclusion T follows / 7 &1 fT5HY 1 3R 71 & fsm 11 SITERUI &l &

27) Complete the series choosing the missing letters: / Ul &Y JH&RY DI IAB YEdr ﬁw PifoTg
ABD, CDF,EFH,

1. GHJ

2. HIK

3.1JL

4. FGI

Correct Answer :-

« GHJ

28) What is the probability of one heads in two tosses of a fair coin? / Froaes e &1 AR

IBTE IR TS WY (@) T 817 P 1 UTRIepr 82

1.0.50
(11)



2.0.25
3.0.75

4. 1.00

Correct Answer :-

« 050

29) If the 10th of a 30-day month falls on the Monday, what will be the day on 30th? / Zlﬁ' 30 ﬁ:ﬁ ard

TP 98 B7 107 e SR Bt gsar 2, @t 309 R s ar = g
1. Tuesday / HICIAR

2. Wednesday / §UdR

3. Monday / SIHdR

4. Sunday /IR

Correct Answer :-

« Sunday/ faar

30) If MIRACLE is coded ZVENPYR, then how is JOURNEY coded? / af& MIRACLE ®I ZVENPYR I

PIfSd forar oirar 8, @ JOURNEY 1 9 Sifsd forar s
1. WBHEARL
2. WBHEALR
3. OLFIMVB

4, OLFIMBV

Correct Answer :-

e WBHEARL

31) Four numbers have been given, out of which all except one share some common property and hence
are alike, while one is different. Choose the odd one out: / TR &R ﬁ'q R 1o %:, o A Faa Th 3|
53 AT I $T T 7O B AT B ¢, ST TH Wi & w1 T e 3| 98 favy 9ma

1.257
2. 357
3.247

(12)



4. 235

Correct Answer :-
o 247

32) In a row of children, Deepti is 9th from the left and Kashish is 13th from the right. They exchange
their positions and then Deepti becomes 17th from the left. Find the new position of Kashish from the

right end of the row?/aﬁﬁwﬁ%ﬁ,aﬁﬁaﬂﬁﬁmwammaﬁﬁ 13%WF'TW%|
3 ot FRURY Y 31Tu & e A & ofi bR ity a1 iR @ 177 I UR 31T STl 2 | 4Ty & a1
RR @ w3 991 73 R &1 var ama?

1. None of the above /mf{@ﬁg ‘J.ﬁ:{g”{
2,27 /279
3.21th /219

4, 20t / 209

Correct Answer :-
o 21th/ 219

33) In a certain code language hil hop hed means police and public and nio hil gok means go to police.
Which is the word for police in that language? / TP TRI BIS U W, hil hop hed BT Y police and
public AYUT nio hil gok BT 3ref go to police G EL3) IS HTST ﬁ:police ¥ o frg 21 &1 ET-?ITIT?I'
fear T g2

1. gok
2. hil
3. hed

4. hpo

Correct Answer :-

o hil

34) In a certain code language, dra sonc fert means win my heart; brip seda sonc means famous heart
surgeon. Which is the word for Aeart in that code language? / Th WTH PIS HTUT ﬁ, dra sonc fert BT 3ref
win my heart; brip seda sonc dT 3 f Sfamous heart surgeon Eﬁ?ﬂ %l B IS U H heart & ﬁfQ' fra s

BT IXIAATA forar AT 82

1. brip

(13)



2. sonc

3.dra

4. fert

Correct Answer :-

* Sonc

35) If MARINE is coded NZTGQB, then how is TAILOR coded? / If¢ MARINE &I NZTGQB &
Fifsd fFar SITar 8, 9 TAILOR &) &4 Siied faar SRm?

1. UZKJSO
2. UZLJRP
3. UZKJRO

4. UZKJRP

Correct Answer :-

« UZKIJRO

36) Find the odd one out: / b ﬁtmsna aﬁﬁm;
1. Hot / TH

2. Spring / q4d

3. Autumn / Ud<ls

4. Summer / UTSH

Correct Answer :-

. Hot/Tlff

37) Complete the series choosing the missing number: / &I TSI TAB YLl Ca| T Pifore:
5,10,17,26,37,

1.47

2.50

3.22

4. 56

(14)



Correct Answer :-

50

38) Complete the series choosing the missing number: / TGl JWAT FAB YT Pt TRT HIToIC:
20, 25, 30, 35, 40,

1.75

2. 55

3.45

4. 60

Correct Answer :-

39) Complete the series choosing the missing number: / &l TS Db YLl DI TRT HIfoTE:
2,864, _

1. 1024

2.1088

3. 126

4. 640

Correct Answer :-

40) Who built the Moti Masjid in Red Fort at Delhi ? / faweil & drel fpa & At AfdSE &1
fFrator foam wamar ur

1. Aurangzeb / RN

2. Akbar / bR

3. Humayun / §IIT§[:

4, Shah Jahan / Xl EGiSwI

Correct Answer :-

» Aurangzeb / IR

(15)



Topic:- Mental Ability and Mental Aptitude

1)
If the following two squares shown below overlap, which one of the following options is formed? / 2T

e o oo sfgeniug g € ar faFa & § &I o7 U6 [d6eT aaar &

A A Al
.
A + i
i ‘ i
T|Y LL‘
2. ]
,'? [
3.
PR
[ Bt
‘ LB
4.

(16)



In the sequence shown below. which figure comes next? /A<l &1 907 HH #, Il 3-IIC+3P hied Tl
HREIT

p’l \‘x AN . \\
e )| A
I, A L ,.r'" E | L 4 . | - \\
Y ADY DY DY
1 1t 111 1%

3) In the sequence shown below, which figure comes next? JeE B3 IR &E H AT 3—11351? hiel ©T

L

W

—

I~
m ooy 0

o m
A~

Z
™

»

(17)



m

X A
X T
1.
E
Y W
X P
2.
D
X W
X T
3.
E
A Y
X T
4,
Correct Answér -
E
X <
X T

4) The age of two persons differ by 10 years. If 4 years ago, the elder one was twice as old as the younger

one. Find the present age of the younger one. /a’raﬂ%m’rﬁ ST hT 3R 10 a’ﬁf%I ?]'%4 Erchgf, El@;
HfeT B 3R B Ft GREAT A | A DI safad o1 adar oy fhat g2

1. 16
2.14
3.12

4.8

Correct Answer :-

. 14

(18)



5) On dividing 4150 by a certain number, the quotient is 55 and the remainder is 25. The divisor is

./ 4150 1 Tt T=T A UG F R, UITh 55 3R A% 25 YT giar g |
HToTeh T gt I

1. 80
2.75
3. 65

4.70

Correct Answer :-

6) A man takes 5 hrs 15 min to walk up to a certain point and then he decides to ride back. If he gains 2 hr
when he rides both ways, i.e. back and forth; calculate the time he would take to walk both ways. / et

i3 g8t ) T afd 5 192 3iR 15 fieTe & gare) 99 9% a1 § SR gt 3R & 98 IaRt & e
31 g Har 21 i I gRI T 3R & 3M- & B 39 2 9¢ &1 I9Y aTdT & al gl ok &
TADBR -5 A I FHa=1 977 aam?

1.3 hrsand 15 minutes/3'ﬂ%15 .
2. 7hrs/7"€i%.r
3.3 hrs/3‘c—4‘%.'r

4, 7 hrs and 15 minutes/7’€i% 15 9,

Correct Answer :-
e 7 hrsand 15 minu’tes/7‘€i_2r 157

7) From a container of milk, 10 % of the milk is replaced by water. This is repeated thrice. At the end of the
third replacement, what percentage of pure milk is present in the mixture? /§‘H% Wmﬁ 10% g¥

B U & ga o ST 8 1 T i aR v wirar 8 1 iR sqera & are, 39 v | s gy &

ufar=rd fore=m givm?

1.73%
2.70%
3.80 %

4.30 %

Correct Answer :-

s 73%

(19)



8) The price of sugar is reduced by 4 %. How many kgs of sugar now can we buy for the money which was

sufficient to buy 18 kgs of sugar earlier?/?ﬂT'ﬂa?HBIﬁ4% aﬁﬁs‘raﬁwﬁaﬁx@ﬁuﬂﬁ 18
oo i @ o gt A, o fpanit @ o T@dl B2

1. 18 kg/ 18 fob3n
2. 18.25 kg/ 18.25 TIT
3. 18.75kg/18.75 T,

4, 18.5 kg/18.5 fopu.

Correct Answer :-

« 18.75kg/18.75 fopm.

9) Three pipes can empty a tank in 10 hrs. How many pipes are required to empty the tank in 2 hrs?/ Gk
U15Y TS ¢ Bl 10 G W GTell HR &d & | ST b Bl 2 U W Frell P & forg fopa= urgai 1
STIIH T T2

1.18
2.6
3.10

4. 15

Correct Answer :-

« 15

10) The area and the perimeter of a sheet of paper are 240 cm? and 68 cm, respectively. What would be its

length and breadth?/Wﬁﬂ?Qﬁfmmzmaﬁ@mﬂGﬁ?w 68%%] Eﬂﬁﬂmﬁﬁ?
ers forasit gnft 2

1. 20 cmand 12 cm /20 34 3R 12 It
2. 24 cm and 16 cm /24 Y 3R 16 YA
3.20cmand 14 cm /20@'5'!3[33? 14 THY
4, 24 cm and 10 cm /24 T 3R 10 I

Correct Answer :-

« 20 cmand 14 cm /20 THT 3R 14 It

11)

(20)



Ram bought six mangoes from a vendor, who was selling them at the rate of Rs. 2 for three of them. Ram in
turn sells them at the rate of Rs. 3 for two mangoes. What is the cost price and selling price of the six

mangoes? / 319 A TP fasbd1 A 6 3MH WIS, SNl fP a8 fabar 2 = & 3 &1 g A 9I T UTI 91 A, I
I 31 P BUY 3 T 2 BT GX T 3T a1 3| 6 A T 5649 G4 3R fawhva gea foa=n gim?

1.2,7
2.5,10
3.4,9

4.3,8

Correct Answer :-

12) Divide 32 into two parts such that if the larger part is divided by the smaller one, the quotient is 2 and

the remainder is 5/3zaﬁﬁﬁ?ﬁﬂ'@naﬁﬁﬁmﬁﬁﬁﬁlﬁﬁ1\qﬁuﬁaﬁmaﬁ@ﬁﬁmﬁ
YT f3T SITE |t YNTH 2 SR A6 5 3Mu?

1.2,5
2.9,23
3.32,9

4.32,5

Correct Answer :-

« 9,23

13) If sides of an equilateral triangle is increased by 20%, then by how much will the area of the triangle

increase?/ T THATE FAYS BT YST3M Bi ATE 20% FeT faT1 AT df Y T wa fora- ufa=ma
q¢ STT?

1. 40%
2. 44%
3. 48%

4. 20%

Correct Answer :-

(21)



By selling a watch at Rs. 840 a person loses 4 %. Find the gain or loss if he sold it for Rs. 875? /Wt_ﬂ'%

BRT TS S} 840 T. T 91 WR I 4% BT JHAH g1 8| IS 98 ST IS &1 875 F. A I A1 A
fora=1T 1Y 3rar g1+ gife

1. Gain of Rs. 7.25 / 7.25 3 [ ¢[H
2. No profit, no loss / T &lH, T &I g
3. Loss of Rs. 1.00 / 1.00 =, &l gIiH

4. Loss of Rs. 2.50 /2.50 = B Bﬁ

Correct Answer :-

e No profit, no loss / - ¢IH, EIG]

15) What is the difference between the place values of 8 and 5 in 1398653? / 1398653 WM 5P

RITI A1 &1 3R T g2
1.3

2.2

3. 990

4. 497

Correct Answer :-

* 990

16) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ T o R AR uel # 9 R R W ud & S 9uH o1 91 U 6l 82

Steve Pipe
5Dick Collins Hall
Redhill Street NW10

(i) Steve Pipe
5Dick Collins Hall
RedhillStreat NW10

(ii) Steve Pipe
5Dick Collins Hall
Redhill Street NW10

(22)



(iii) Steve Pipe
5Dick Collins Hall
Redhill Street NW10

(iv) Steve Pipe
5Dick Collins Hall
Redhill Street NW10

4. iii

Correct Answer :-

17) Find the average of first 11 multiples of 9? / 9 & TYH 11 ﬂffﬁﬁﬂ N fpaaT BIm?
1. 54
2.52
3.45

4. 60

Correct Answer :-

.« 54

18) Find thesumoftheseries:1 + 2+ 3 + 4 + 5.....cccevvrueenen 89 + 90/ m 142434445 eererecrecnenne
89+90 T TN T

1. 4095
2. 3868
3. 3260

4. 4325

Correct Answer :-



19) A man starts walking towards sunrise. He walks for 5 km, and then turns right and walks
for another 3 km. He turns right and then walks for 4 km. Finally, he takes a right turn and
travels 1 km. Which of the following directions, is he facing now? / Wﬁmﬁw 3eHt
AT AR HRT 7 1 98 5 THT Iaar 8 SR fibr o gooe 3 forelt ok gaar 81 98 o gean @ 8 4
ot Trerar 81 siaa: 98 g Year @ o 1 fredt Teran 31 o« 9% forw ez & 3= &2

1. West /quj:[
2. East/ Uﬁ
3. South / GI&OT

4, North / 3R

Correct Answer :-

e North /37X

20) I have a money purse containing Rs. 700. There are an equal number of 25 Paise coins,

50 Paise coins and 1 Rupee coins. How many coins do I have of each of them?/ g 'cl'g,,"l;”?f 700
. &1 S9H 3a9 €1 25 U9, 50 U 3R 1 &. & e RIax G # &1 TP UPR & Rige! o G=
feait 82

1. 455
2. 450
3. 400

4. 390

Correct Answer :-
e« 400

21) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / <12 &1 TTE garelt #, 3R} 3R F@ITSHT BT U HH Ffed €1 Terd Hale ugeng:

i.ytbei732btyei
ii.ytbei732btyei
iii.ytbel732btyei
iv.ytbei732btyei
1.iv

2.1

(24)



3.1i
4, ii1
Correct Answer :-

e il

22) Find the average. /3frad Ao |
4,8,16,24,32& 42

1.20

2.24

3.21

4.22

Correct Answer :-
o 21

23) The ratio of the ages of a father and his son is 6 : 1. Twenty years hence, the ratio becomes 2 : 1. What is the
sum of father's and son's current ages? / fdT eﬁvgaa?r ST BT AJUT 6:1 g1 20 IT9 91 T8 SIUTd 2:1
BRI O SR O 5t g 3mg &1 a1 fha-n g2

1. 50
2. 60
3.55

4.35

Correct Answer :-

24) Five years ago, if the total of the ages of a father and his son was 40 years, and the ratio of their present ages

is 4 : 1, then, what is the present age of the father?/Sa'Gf'Cj\é, trl%fﬁmaﬁ?tﬁav"rarrgmtﬁﬂm af o7 Gﬁ?
IAP! TAUM 31T BT U 4:1 8 ol a1 3t adu omg frait g2

1. 40years/4oa'5f
2. 50 years/ 5099
3. 35 years/ 3594

4, 45years/453'5f
(25)



Correct Answer :-

e 40yea rs/403'5f

25) Ram and Shyam working separately can do a piece of work in 15 and 30 days, respectively. If they work on
alternate days starting with Ram on first day, then in how many days the work will be finished?/ JTH 3R M

T3 HTH HIa §U FHA BT B HH: 15 3R 30 7 H H9 §1 9w /A I A = Fra gua
TP A DIS-BIS PR PH PG &, O PTH TH S A fpa-1 a7 T2

1. 20
2.25
3.15

4. 10

Correct Answer :-

« 20

26) Poonam can complete a piece of printing work in four days and Sonia can do the same in six days. If the two
girls work together, then, how long will it take for them to complete the given task?/ T-TH ifdnr & Pt o™ 3l
4 o & T x Tl €, St BT 1 TifFraT 6 feT A e urdl @1 afe Sl sl |y § s o al
DT G 511 | foha= 1 T3 T

2
ﬁb_ npE
gglda,ra

1.
i
3= days
d
2.
Ind
—days
5 y
3.
4. 5 days

Correct Answer :-



27) A father is twice as old as his son. 10 years ago, the age of the father was 3 times the age of the son. What is

the father's age at present?/mﬁmmgﬁaﬁﬁ'ﬂ:ﬂ%l 10 ﬁqﬁﬁmaﬂmmgﬁaﬂmaﬁ
T T Y | e ) g g T R

1. 50years/ 5098
2. 60 years/ 603'5f
3. 40 years/ 409

4. 30 years/ 303ﬁ

Correct Answer :-

e 40 years/ 409

28) Ais two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, then how old
isB?/ A, B Gl 99 9813 W% ¢ A ST A ST R At A, B 3R ¢ F Pt g 27 ad g, <t B F 3y
fraii 82

1. 10 years /1098
2.9 years/9 Gl
3.7 years/7a'5f

4. 8 years /8 ¥

Correct Answer :-

¢ 10 years /10 9%

29) A construction company purchases cement at the rate of Rs. 1,000 per tonne and stores it at Rs. 100 per
tonne. It is perceived that in the coming month, the price of cement will rise by Rs. 2,000 per tonne. The company
already has 500 tonnes of cement. If the cement usage during a month is 1,000 tonnes, how much cement should
the company purchase this month to minimize its expense in the next one? / Th fafemtar st 1000 . ufd
T P ¥ ¥ e TGl g 3R ITP WU W 100 F. Ui & & 3919 & o0 Hwedt g1 39 98 ual
AT § 5 erer el # Wide &1 e 2000 %. Ufd o1 9¢ GHd1 8 | FHH & U U I g 500 T Wi
21 afe Te g A Wide $t @ud 1000 271 3, 9 3 39 7 F ot diie Tl vt o ermat
HEH A 39 Siftie T A1 HA1 uS?

1. 500 tones/ 500 ¢4
2. 1,000tones/ 1000 ¢
3. 2,000 tones/ 2000 €1

4. 1,500 tones/ 1500 ¢

Correct Answer :-
(27)



« 1,500 tones/ 1500 c-

30) A batsman has a batting average of X in 6 innings. In the 7th innings, he scores 48 runs, thereby increasing

his average by 5 runs. What is the average after the 7th innings?/wac—aﬁlﬁﬁ 6 Uil # Sedareit &1
fra X 2179 Ut § 9 48 37 ST €, ORI ST SN 5 79 9 ST 21 791 Ut & 918 9T Saa
TN

1. 11
2.13
3.54

4. 15

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)  Find the aritimetic mean for the following dam: / HF=leGd Sl & [old GHIGL HET AT 1

Cost of pen
/ elH @l 30
Hedl
oy,

No. of pens
J el HT i

.\Ei-!r_E“

Lad
ILh
]
L]

10

Lh

b
[#h)
ga
h

1. 10
2.15
3. 225

4. 105

Correct Answer :-

e 15

2) -5 -11 8 gy =B

Andxif(5) x(3) =



Correct Answer :-

3 " i
) Expand (2x — v +32)2 /(2x — v + 32)? & [aearia &

. 4x? 4+ v2 + 922 + dxyy + 6yz + 12xz2

i dx? +v? + 922 + dxy + 6z — 12xz

4x? +y? +9z7 — dxy — 6yz + 12xz
3.

dx? +v? + 922 + 4y — 6yz + 12x2
4.

Correct Answer :-
4x? +y? + 927 — dxy — Hyz + 121z

4 .-
) 4274576 =

1. 624
2.564
3.524

4. 724

Correct Answer :-

(29)



Which of the following quadrilateral is NOT a parallelogram? / e d I s ar ﬂﬂﬂﬁ Th
iR IgHe A8 82

1. Square / aif
2. Rectangle / 3TAd

3. Rhombus / THAHS
4, Kite / PIgC

Correct Answer :-

« Kite / PIRC

6) Two parallel lines are intersected by a transversal, the corresponding angles are: / a’mﬂm%@q

o fode Y g1 ufa=sfea § T sl
1. Not same/wqﬁ%

2. Are equal / HHIA %

3. Sum of the angles is 180D

4, One is double the other

Correct Answer :-

e Areequal / W%

7) In how many years will Rs. 4000 amount to Rs. 5324 at a rate of 10% compounded annually? / 10%

P ATATT Th g &2 9, foat a9 & 4000 $UF, 5324 T g FARA?
1. 5 years /5 a8
2.3 years /3 T4
3.2 years /2 98

4,4 years/4a'5f

Correct Answer :-
» 3years/3 GL

8) What is the smallest number that must be multiplied by 385875 to make it a perfect cube? / dg dYdH

AT B4 3t 3 o 385875 | TG FH=+ UR TP Yol 1 a1 &2
1.7

2.5
(30)



3.3

4.13

Correct Answer :-

« 3

9) The area of a rectangular field is 836 sq cm. One of its side is 22 cm, then its perimeter is: / Y

SAMATPR &7 BT ST 836 T AU &1 SHP! TP YoIT 22 A &, ot SHBTUIRAI B :
1. 100 cm / 100 T4t
2. 200 cm / 200 THt
3. 400 cm / 400 9

4. 120 cm / 120 94T

Correct Answer :-

« 120 cm/lzoﬁ

10) The base area of a right circular cylinder is 40 sq cm and its height is 5 cm, then its volume is: / q

T4 (RT3 THOR) 9T DT YR STH 40 T THI § 3R ITD! TS 5 W1 7, 1 SHBT AT 6 -
1. 256 cu cm / 256 T AT
2. 184 cu cm / 184 G- At
3. 200 cu cm / 200 T It

4, 245 cu cm / 245 99 IHI

Correct Answer :-

e« 200 cucm /200 g 99t

11) The total angle in a quadrilateral is: / TP ilﬂ‘{-lﬁ | Pd CaL| % :

1,360
2. None of the above /mﬁ @fﬁéﬂ@

3.180
4. 540

Correct Answer :-

(31)



12) The market price of a cycle is Rs. 3700 and its discount rate is 10% , then its selling price is: / TP

TT3frd Ft IR ST 3700 TUA § MR ITD! T X 10% ¢, A1 STDT fIHd T4 &
1. Rs. 3500 / 3500 3T
2. Rs. 3210 / 3210 ¥4
3. Rs. 3000 / 3000 Y

4. Rs. 3330 / 3330 U

Correct Answer :-
« Rs.3330/3330 300

13) The coil of wire used in electric heaters is called a/an : /ﬁgqa [ ﬁugaaaﬁﬂ's‘aﬁrﬁ
PUSTH B CIRC iGN

1. filament / g
2. cell /T
3. battery / T

4, element / dd

Correct Answer :-

¢ ¢lement / dd

14) Amit is now 20 years old and Leela is 4 years old. In how many years will Amit be twice as old as

Leela? / 30 314ft 20 9 &1 § 3R oftan 4 af &t § 1 fpam aut # Sif¥ra <fierm & SR a1 8Mm?
1. 8 years / 8 AN

2. 12 years / 12 99

3. 10 years / 10 98

4. 11 years / 1199

Correct Answer :-

e 12 years /12 Y

15) {(-5—7a+6ae?)+{2a+1)_

(32)



1. 6a—1

5. 6o —5
3. 3a+5
4 3a—15

Correct Answer :-

3a—5

16) Which of the following belongs to protista? /ﬁyﬁﬁaﬁqmﬁﬁmﬁmﬁ%
1. Slime moulds / 3[aU® Hghal

2. Black moulds &Tcil B/
3. Blue moulds:ﬁ?ﬁq?dg_ﬁ/

4. Pink moulds 7] S W/

Correct Answer :-

« Slime moulds / 3/dUd HHAT

17) Which of the following combinations are most suitable for composite fish culture? FEAIEEA

Tao Hgad Has Yoo & fore 9ad Suge 82

1. Surface feeders, middle zone feeders and bottom feeders /qgﬁa ﬂ-h\_rﬁ, | asnﬂsﬁqa SPeRIAHISH
2. Surface feeders only / Wq@h HISit

3. Middle zone feeders and bottom feeders only / Had AL &FHISI TF SHeRAAHSIT

4. Surface feeders and bottom feeders only / Hdd JEIT Hish T SfedaHIS

Cérrect Aﬁswer -

« Surface feeders, middle zone feeders and bottom feeders /1?{8%[ ST, He &S U9 SfeRdayioi

18) Which one of the following options is CORRECT about Amoeba? / lTTd IR AT A ST AT
e ad 82

1. Cannot carry out all cell functions / Tt BIRABT BT T B Tebell §
2. Not microscopic /q&nﬁqﬁm%

(33)



3. Unicellular/Wﬁlﬁ
4. Multicellular / SgHIRIDT

Correct Answer :-

. Unicellular/Wﬁlﬁ

19) Name the white fibrous connective tissue that joins muscles to bones. IW@HWWWW
AT FaT¢ Y TR 31 f R A siear g1

1. Ligament / HIY
2. White blood tissue / Xdd Y& Sad
3. Cartilage / SUTRY

4, Tendon / P eI

Correct Answer :-

 Tendon /&S0

20) The largest phylum of animal kingdom is: / UX] WWWWW%
1. Coelenterata /?ﬂé@—c’r

2. Arthropoda / 3IfarsT

3. Annelida /tﬁﬁ‘l@

4, Protozoa / En_cﬁ\_rﬁ&ﬂ

Correct Answer :-

¢ Arthropoda / SMATST

21) One of the features about cloning mentioned below is INCORRECT. Identify the same. / g aftfd w9 &

IR ¥ Ue faxivar ad g1 3P ugdrH B |
1. The first cloned organism was the sheep dolly. / Ugdl CNIRRSIE] ﬂ_s’ ic ATl

2. The cloned sheep dolly did not resemble either of the parents. / &9 VS Sldt 39 Ard U & JHH
el At

3. Wilmut developed the first clone of an adult sheep. / faeqc 4 RS VS & Ugd aaliF DI fadbRid foan

4. Dolly was the exact copy of the adult sheep from where the nucleus was taken. / Sicil 39 IR US &I
TP Uit SIg1 ¥ A1iyes form T ol

(34)



Correct Answer :-

« The cloned sheep dolly did not resemble either of the parents. / &l ﬂ_s’ STl 319+ AT fUar & T9H
BT

22) Mathura oil refinery and leather industry around Agra are mainly responsible for: / 3TRT &

STHYTT HYRT A RBTSRY 3R THST I8N &I 77 | 39S [ SRR &
1. Air pollution in Delhi / faedi & 91g Ugyur

2. Acid rain in Delhi / feceil & 3t quf

3. Acid rain in and around Taj Mahal / dlsTHgd T qUT I 3MUTT 31 au

4. Skin disease / 9T [T

Correct Answer :-

« Acid rain in and around Taj Mahal / dToHed & dUT 3P STHURNT 37 auf

23) The acid released in the stomach to help digestion is: / UTIF H Heg 34 & forg Ue o Iarfed
B aTeT 31T 8:

1. Hydrochloric acid /B'I'a'?;fﬁl%ﬁﬁﬁ 3R
2. Lactic acid / difdee 3

3. Sulphuric acid / TeHRIR® &7
4, Citric acid / 913l 3T

Correct Answer :-

« Hydrochloric acid /’G’E@Hﬁﬂﬁ 3HT

24) Decrease in rainfall is due to: / aul & & 3’\‘!'37 DRUT ﬁ'cﬁ %:
1. Global warming / TS i

2. Afforestation / GBI

3. Soil erosion / Hal UG

4. Soil conservation / FGI TR&TUT

Correct Answer :-

« Global warming / Tled g



25) A suspended bar magnet is rotated. It will come to rest in the north-south direction. This
shows that the earth has its own . | 9P 31 48 JHd YHIT STl 21 98 IcR-gfaror
fa=m o sgvar 81 gg oxitar ® f gt @1 eruem BT 81

1. electric field / 9gad &5
2. magnetic field / TEDHIT &
3. gravitational field / o &

4, atmosphere / AHSA

Correct Answer :-

« magnetic field / TEHI &

26) If the area of a circle is 154 sq cm, then its circumference is: / e Ud g1 Bl éﬂﬁtﬁf 154
if St @ o SHPT uRfU | :

1. 44 cm / 44 &
2.7cm/7@1ﬁ
3. 49 cm / 49 IH

4,21 cm /21 99

Correct Answer :-
e 44cm /44 It

27) Nitrogen is used to flush food items to remove ./ ?IE@EFI BT START W Eﬂﬁ\?ﬁ' CRAIGE |
T4_______ Pige b g fParsman sl

1. chlorine / AR
2. oxygen / RIENIEE]
3. hydrogen / 6!33[@3

4, water / SIc]

Correct Answer :-

« oxygen/ RICRISE]

28) Which pigments are commonly deposited in the sclera of eyes and skin during hepatitis? / ?qu_d'-'{ﬁ%[ x|

3TET 3R T P Tdducd A HTHRIG: DI AT 9uie gidT g2

1. Chlorophil / TRt
(36)



2. Xanthophy Il / SIRITBTS II
3. Carotenoids / 3'3? feaTy

4, Bilirubin / TSferE e

Correct Answer :-

o Bilirubin / TSfeRsTaH

29) The planet Venus rotates from: / 98 I FAETTR guiv $var 8:
1. West to East / Uf3H J U,_:Cf

2. East to North / Uj@ Jaik
3. East to West / U@c@[q@'ﬂ

4. North to South / IR I f&ror

Correct Answer :-

» East to West / uj@ gigy

30) Itis raining heavily and Sonam wishes to reach her home from the garden. The path on which
she is LEAST likely to slip is the one lined with: / U STR=T 81 6t § 3R T9H T | 304 W a6
g TTEdl 81 98 T oy IR 39% fhaas &1 =gy SyTan §, 399 SRd 3

1. Loose soil / 3¢ gl

2. Gravel / SoR]

3. Polished marble / GifcT=T fobdn g3 THRHR

4, Cement / difc

Correct Answer :-

« Gravel / SoR]

(37)



